SEMBAWANG PRIMARY SCHOOL

P6 TOPICAL WORKSHEET

Volume (5)

Name: 
_____________________________
                     Date: ________________

Class : 6____________________

For the following problems, show your working clearly in the space below each question and write your answers in the space provided.
1.
A rectangular aluminium container, 15 cm long and 8 cm wide, contains 480 cm3 of 
water.  When a stone is put into the water, the height of the water becomes 6 cm.  
What is the volume of the stone?

Ans: _______________
2.
A rectangular glass tank is 1 m long, 0.5 m wide and 15 cm high.  It is 
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 full of 
water.  7000 cm3 of sand was put into the water.  What was the rise in the water 
level?
Ans: _______________
3.
If 8 metal balls, each with a volume of 50 cm3, are put into the glass tank shown 
below, what is the rise in the water level?






Ans: _______________
4.
A tank 16 cm by 8 cm contains water to a height of 5 cm.  When a few pebbles were 
dropped into the tank, the water level rose to 7 cm.  What is the volume of the 
pebbles?

Ans: _______________
5.
A rectangular container, 50 cm long, 40 cm wide and 30 cm high, was 
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 filled with 
water.  5 identical 8-cm cubes were added into the container.  Find the new water 
level in the container.

Ans: _______________
6.
6400 ml of water was poured into a tank.  It reached a height of 10 cm.


(a)
If the tank had a width of 16 cm, find its length.


(b)
When a stone was lowered into the tank, the water level rose to a height of 

12.5 cm.  What is the volume of the stone?

Ans: (a) _______________

(b) _______________
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